

County Distribution Detail Report through 05/05/2025

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	714	2,244	648	3,606	\$7,212.00	\$70.16	\$7,141.84	0.70	\$4,999.29
							Entity Tota	l:	\$4,999.29
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,999.29
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	663	12,338	2,462	15,463	\$30,926.00	\$382.22	\$30,543.78	0.70	\$21,380.65
							Entity Tota	l:	\$21,380.65
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$21,380.65
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	757	1,401	3	2,161	\$4,322.00	\$79.97	\$4,242.03	0.70	\$2,969.42
							Entity Tota	l:	\$2,969.42
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,969.42
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	1,324	4,646	79	6,049	\$12,098.00	\$113.24	\$11,984.76	0.70	\$8,389.33
							Entity Tota	l:	\$8,389.33
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$8,389.33

Brookings

Telecom Lines	Wireless Lines	VOIP	Totallinas			N 40 1	F-414.	
		Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8,809	25,260	647	34,716	\$69,432.00	\$754.56	\$68,677.44	0.70	\$48,074.21
						Entity Tota	al:	\$48,074.21
						Adjustmer	nt:	\$0.00
						Total Amo	unt:	\$48,074.21
Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3,746	30,980	3,640	38,366	\$76,732.00	\$854.04	\$75,877.96	0.70	\$53,114.57
						Entity Tota	al:	\$53,114.57
						Adjustmer	nt:	\$0.00
						Total Amo	unt:	\$53,114.57
Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1,849	4,179	161	6,189	\$12,378.00	\$110.18	\$12,267.82	0.70	\$8,587.47
						Entity Tota	al:	\$8,587.47
						Adjustmer	nt:	\$0.00
						Total Amo	unt:	\$8,587.47
Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
517	532	3	1,052	\$2,104.00	\$28.08	\$2,075.92	0.70	\$1,453.14
						Entity Tota	al:	\$1,453.14
						Adjustmer	nt:	\$0.00
						Total Amo	unt:	\$1,453.14
Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	_	Entity Percent	Entity Amount
1,258	7,673	580	9,511	\$19,022.00	\$189.48	\$18,832.52	0.70	\$13,182.76
						Entity Tota	al:	\$13,182.76
						Adjustmer	·+·	\$0.00
						Aujustinei	и.	ψ0.00
	Telecom Lines 3,746 Telecom Lines 1,849 Telecom Lines	Telecom Lines Wireless Lines 1,849 Wireless Lines Telecom Lines Wireless Lines 1,849 4,179 Telecom Lines Wireless Lines 517 532 Telecom Lines Wireless Lines	Telecom Lines Wireless Lines VOIP Lines 3,746 30,980 3,640 Telecom Lines Wireless Lines VOIP Lines 1,849 4,179 161 Telecom Lines Wireless Lines VOIP Lines 517 532 3	Telecom Lines Wireless Lines VOIP Lines Lines 3,746 30,980 3,640 38,366 Telecom Lines Wireless Lines VOIP Lines Lines 1,849 4,179 161 6,189 Telecom Lines Wireless Lines VOIP Lines Lines 517 532 3 1,052 Telecom Lines Wireless Lines VOIP Lines Lines Total Lines Lines Lines Total Lines Lines Total Lines Lines Total Lines Lines	Telecom Lines Wireless Lines VOIP Lines Lines Total Lines Syrcharge Lines Surcharge Syr6,732.00 Telecom Lines Wireless Lines VOIP Lines Lines Lines Lines Total Lines Syrcharge Lines Syrcharge Lines Surcharge Lines Syrcharge Lines 1,849 4,179 161 6,189 \$12,378.00 Telecom Lines Wireless Lines Lines Lines Lines Lines VOIP Lines Syrcharge Lines Surcharge Syrcharge Lines Telecom Lines Wireless Lines Lin	Telecom Lines Wireless Lines VOIP Lines Lines Total Lines Saurcharge Admin Fee Admin Fee Septiment Telecom Lines Wireless Lines VOIP Lines Lines Lines Lines Lines Saurcharge Admin Fee Lines Admin Fee Lines Saurcharge 1,849 4,179 161 6,189 \$12,378.00 \$110.18 Telecom Lines Wireless Lines Lines Lines Lines Lines Saurcharge Admin Fee Lines Saurcharge Admin Fee Lines Saurcharge 517 532 3 1,052 \$2,104.00 \$28.08 Telecom Lines Wireless Lines VOIP Lines Lines Surcharge Admin Fee Admin Fee Lines	Entity Total Amount	Telecom Lines

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	489	1,427	15	1,931	\$3,862.00	\$38.35	\$3,823.65	0.70	\$2,676.56
							Entity Tota	d:	\$2,676.56
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,676.56
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	1,957	6,212	21	8,190	\$16,380.00	\$178.76	\$16,201.24	0.70	\$11,340.87
							Entity Tota	d:	\$11,340.87
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$11,340.87
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	1	3,054	73	3,128	\$6,256.00	\$56.66	\$6,199.34	0.70	\$4,339.54
							Entity Tota	ıl:	\$4,339.54
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,339.54
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	433	3,648	98	4,179	\$8,358.00	\$54.92	\$8,303.08	0.70	\$5,812.16
							Entity Tota	d:	\$5,812.16
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,812.16
City of Pierre, Hugh	es Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	110	12,464	2,814	15,388	\$30,776.00	\$374.69	\$30,401.31	0.70	\$21,280.92
							Entity Tota	ıl:	\$21,280.92
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$21,280.92
City of Sioux Falls, I	_incoln (

Reporting Period									
	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	622	36,412	5,772	42,806	\$85,612.00	\$684.79	\$84,927.21	0.70	\$59,449.05
							Entity Tota	ıl:	\$59,449.05
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$59,449.05
lark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	858	2,772	97	3,727	\$7,454.00	\$117.13	\$7,336.87	0.70	\$5,135.81
							Entity Tota	ıl:	\$5,135.81
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$5,135.81
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	342	8,496	1,255	10,093	\$20,186.00	\$166.43	\$20,019.57	0.70	\$14,013.70
							Entity Tota	ıl:	\$14,013.70
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$14,013.70
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	2,516	22,324	3,341	28,181	\$56,362.00	\$733.51	\$55,628.49	0.70	\$38,939.94
						•	ψου,ο <u>Σ</u> ο. Το		
						* ***	Entity Tota		\$38,939.94
						,		al:	\$38,939.94 \$0.00
						,	Entity Tota	il: it:	
Corson							Entity Tota Adjustmen	il: it:	\$0.00
Corson Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Entity Tota Adjustmen	il: it:	\$0.00
	Telecom Lines	Wireless Lines 1,229		Total Lines 2,325	Surcharge \$4,650.00		Entity Tota Adjustmen Total Amo	al: ut: unt: Entity	\$0.00 \$38,939.94
Reporting Period			Lines		_	Admin Fee	Entity Tota Adjustmen Total Amo Net Surcharge	ent: unt: Entity Percent 0.70	\$0.00 \$38,939.94 Entity Amount
Reporting Period			Lines		_	Admin Fee	Entity Total Adjustmen Total Amo Net Surcharge \$4,566.66	Entity Percent 0.70	\$0.00 \$38,939.94 Entity Amount \$3,196.66

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	2,513	7,343	54	9,910	\$19,820.00	\$266.93	\$19,553.07	0.70	\$13,687.15
							Entity Tota	al:	\$13,687.15
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$13,687.15
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	2,191	16,284	1,747	20,222	\$40,444.00	\$347.80	\$40,096.20	0.70	\$28,067.34
							Entity Tota	al:	\$28,067.34
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$28,067.34
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	1,260	4,108	223	5,591	\$11,182.00	\$118.42	\$11,063.58	0.70	\$7,744.51
							Entity Tota	al:	\$7,744.51
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$7,744.51
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	1,111	3,390	144	4,645	\$9,290.00	\$104.40	\$9,185.60	0.70	\$6,429.92
							Entity Tota	al:	\$6,429.92
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$6,429.92
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	876	2,341	9	3,226	\$6,452.00	\$79.32	\$6,372.68	0.70	\$4,460.88
							Entity Tota	al:	\$4,460.88
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$4,460.88
Edmunds									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	762	3,293	148	4,203	\$8,406.00	\$82.71	\$8,323.29	0.70	\$5,826.30
							Entity Tota	al:	\$5,826.30
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,826.30
all River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	2,316	5,594	45	7,955	\$15,910.00	\$171.33	\$15,738.67	0.70	\$11,017.07
							Entity Tota	al:	\$11,017.07
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$11,017.07
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	539	1,787	43	2,369	\$4,738.00	\$56.54	\$4,681.46	0.70	\$3,277.02
							Entity Tota	al:	\$3,277.02
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,277.02
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	890	5,998	677	7,565	\$15,130.00	\$141.36	\$14,988.64	0.70	\$10,492.05
							Entity Tota	al:	\$10,492.05
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$10,492.05
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	1,353	3,716	43	5,112	\$10,224.00	\$110.35	\$10,113.65	0.70	\$7,079.56
							Entity Tota	al:	\$7,079.56
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,079.56
Haakon									. ,

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	802	1,453	3	2,258	\$4,516.00	\$65.96	\$4,450.04	0.70	\$3,115.03
							Entity Tota	al:	\$3,115.03
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,115.03
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	1,093	4,667	112	5,872	\$11,744.00	\$165.61	\$11,578.39	0.70	\$8,104.87
							Entity Tota	al:	\$8,104.87
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$8,104.87
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	451	2,852	452	3,755	\$7,510.00	\$70.58	\$7,439.42	0.70	\$5,207.59
							Entity Tota	al:	\$5,207.59
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,207.59
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	605	3,351	58	4,014	\$8,028.00	\$75.95	\$7,952.05	0.70	\$5,566.44
							Entity Tota	al:	\$5,566.44
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,566.44
Harding									
naruing			VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
Reporting Period	Telecom Lines	Wireless Lines	Lines					Percent	
-	Telecom Lines	Wireless Lines		1,486	\$2,972.00	\$33.36	\$2,938.64	Percent 0.70	\$2,057.05
Reporting Period			Lines	1,486	\$2,972.00	\$33.36	\$2,938.64 Entity Tota	0.70	\$2,057.05 \$2,057.05
Reporting Period			Lines	1,486	\$2,972.00	\$33.36		0.70 al:	

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	357	3,462	240	4,059	\$8,118.00	\$119.90	\$7,998.10	0.70	\$5,598.67
							Entity Tota	ıl:	\$5,598.67
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,598.67
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	2,041	5,768	37	7,846	\$15,692.00	\$159.29	\$15,532.71	0.70	\$10,872.90
							Entity Tota	ıl:	\$10,872.90
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$10,872.90
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	510	1,037	9	1,556	\$3,112.00	\$29.31	\$3,082.69	0.70	\$2,157.88
							Entity Tota	ıl:	\$2,157.88
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,157.88
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	492	1,013	8	1,513	\$3,026.00	\$39.58	\$2,986.42	0.70	\$2,090.49
							Entity Tota	ıl:	\$2,090.49
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,090.49
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	605	1,512	16	2,133	\$4,266.00	\$59.60	\$4,206.40	0.70	\$2,944.48
							Entity Tota	ıl:	\$2,944.48
							Adjustmer	ıt:	\$0.00

			,						.
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	386	766	16	1,168	\$2,336.00	\$29.10	\$2,306.90	0.70	\$1,614.83
							Entity Tota	al:	\$1,614.83
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,614.83
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	640	4,259	399	5,298	\$10,596.00	\$143.34	\$10,452.66	0.70	\$7,316.86
							Entity Tota	al:	\$7,316.86
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,316.86
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	1,109	9,990	921	12,020	\$24,040.00	\$231.64	\$23,808.36	0.70	\$16,665.85
							Entity Tota	al:	\$16,665.85
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$16,665.85
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	3,522	21,116	2,589	27,227	\$54,454.00	\$614.28	\$53,839.72	0.70	\$37,687.80
							Entity Tota	al:	\$37,687.80
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$37,687.80
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	1,384	29,550	3,860	34,794	\$69,588.00	\$578.09	\$69,009.91	0.70	\$48,306.94
							Entity Tota	al:	\$48,306.94
									¢0.00
							Adjustmer	nt:	\$0.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	956	2,007	348	3,311	\$6,622.00	\$83.45	\$6,538.55	0.70	\$4,576.99
							Entity Tota	al:	\$4,576.99
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,576.99
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	1,108	3,408	190	4,706	\$9,412.00	\$90.32	\$9,321.68	0.70	\$6,525.18
							Entity Tota	al:	\$6,525.18
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,525.18
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	1,346	4,815	9	6,170	\$12,340.00	\$95.02	\$12,244.98	0.70	\$8,571.49
							Entity Tota	al:	\$8,571.49
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$8,571.49
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	686	1,737	5	2,428	\$4,856.00	\$79.46	\$4,776.54	0.70	\$3,343.58
							Entity Tota	al:	\$3,343.58
							Adjustmer	nt:	\$0.00
Maada							Total Amo	unt:	\$3,343.58
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	1,161	22,010	1,402	24,573	\$49,146.00	\$456.25	\$48,689.75	0.70	\$34,082.83
							Entity Tota	al:	\$34,082.83
							Adjustmer Total Amo		\$0.00 \$34,082.83

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	471	750	31	1,252	\$2,504.00	\$30.47	\$2,473.53	0.70	\$1,731.47
							Entity Tota	l:	\$1,731.47
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,731.47
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	733	1,814	21	2,568	\$5,136.00	\$58.16	\$5,077.84	0.70	\$3,554.49
							Entity Tota	l:	\$3,554.49
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,554.49
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	10,370	171,542	24,267	206,179	\$412,358.00	\$3,615.90	\$408,742.10	0.70	\$286,119.47
							Entity Tota	l:	\$286,119.47
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$286,119.47
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	809	5,381	148	6,338	\$12,676.00	\$102.73	\$12,573.27	0.70	\$8,801.29
							Entity Tota	l:	\$8,801.29
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$8,801.29
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	8,968	96,217	12,411	117,596	\$235,192.00	\$2,532.58	\$232,659.42	0.70	\$162,861.59
							Entity Tota	l:	\$162,861.59
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$162,861.59
Perkins									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	1,403	2,482	5	3,890	\$7,780.00	\$74.97	\$7,705.03	0.70	\$5,393.52
							Entity Tota	al:	\$5,393.52
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,393.52
otter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	790	1,998	7	2,795	\$5,590.00	\$43.79	\$5,546.21	0.70	\$3,882.35
							Entity Tota	al:	\$3,882.35
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,882.35
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	2,520	5,947	43	8,510	\$17,020.00	\$177.95	\$16,842.05	0.70	\$11,789.44
							Entity Tota	al:	\$11,789.44
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$11,789.44
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	570	1,962	13	2,545	\$5,090.00	\$59.24	\$5,030.76	0.70	\$3,521.53
							Entity Tota	al:	\$3,521.53
							Adjustmer	nt:	\$0.00
Swind.							Total Amo	unt:	\$3,521.53
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
	890	5,084	546	6,520	\$13,040.00	\$151.67	\$12,888.33	0.70	\$9,021.83
3/2025									
3/2025							Entity Tota	al:	\$9,021.83
3/2025							Entity Tota Adjustmer		\$9,021.83 \$0.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	155	2,567	449	3,171	\$6,342.00	\$72.69	\$6,269.31	0.70	\$4,388.52
							Entity Total: Adjustment: Total Amount:		\$4,388.52
									\$0.00
									\$4,388.52
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	491	1,368	4	1,863	\$3,726.00	\$42.53	\$3,683.47	0.70	\$2,578.43
							Entity Total: Adjustment: Total Amount:		\$2,578.43
									\$0.00
									\$2,578.43
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	0	59	0	59	\$118.00	\$13.24	\$104.76	0.70	\$73.33
							Entity Tota	al:	\$73.33
							Adjustment: Total Amount:		\$0.00
									\$73.33
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	1,772	4,236	93	6,101	\$12,202.00	\$111.05	\$12,090.95	0.70	\$8,463.67
							Entity Tota	al:	\$8,463.67
							Adjustment:		\$0.00
							Total Amount:		\$8,463.67
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	1,328	7,303	87	8,718	\$17,436.00	\$135.83	\$17,300.17	0.70	\$12,110.12
							Entity Total: Adjustment:		\$12,110.12
									\$0.00
							Total Amo	\$12,110.12	
Union									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	1,530	12,433	858	14,821	\$29,642.00	\$336.41	\$29,305.59	0.70	\$20,513.91
							Entity Total:		\$20,513.91
							Adjustment:		\$0.00
							Total Amount:		\$20,513.91
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	1,073	4,067	553	5,693	\$11,386.00	\$123.67	\$11,262.33	0.70	\$7,883.63
							Entity Total:		\$7,883.63
							Adjustment:		\$0.00
							Total Amount:		\$7,883.63
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2025	1,591	19,780	2,223	23,594	\$47,188.00	\$353.78	\$46,834.22	0.70	\$32,783.95
							Entity Total:		\$32,783.95
							Adjustment	:	\$0.00
							Total Amount:		\$32,783.95
TOTALS	96,430	711,848	77,981	886,259	\$1,772,518.00	\$17,806.42	\$1,754,711.58		